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1. It 9@ 413283P759387, 13 ¥ fawrsy ¥, 4, 50 3R 100 ¥ 9 3w &S (m, n) H

A P A AT RY WIH R R AR FE m-n=-671
TR % fraw gm €7

{fa 3 j
(@) 2

(b) 6
(b) 3

() 7 (© 4

(d) 8 (d) 5

2. 3fe 21000000 =y 7 § fywifa frm sy, & 5. A% :
RANHS FT B

(al +a2 +a3)(b1 +b2 +b3 +b4)
(cp tcg +c3 +c4 +C5)

(@ 1
T fham ug &7
(b) 2
(@ 15
4
¥ (b) 30
(e (c) 45 \
(d) 60
3. WT {2 3 6 89) F A (x, y) F W fey Im '
PIONTREF L+ Y oR, x2y?
L 6. 5= 2727 — 1527 = 6 4 fawifom fr se, @
AYES F1 BT
(@ I3
(a O
(b) TH
(b 1
(c A () 3
(d) = (d 4
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1. If the number 413283P759387 is 4. Consider the pairs of prime numbers

divisible by 13, then what is the value (m, n) between 50 and 100 such that
of P? m-n=6. How many such pairs are
there?
(@ 3
(a 2
b) 6
(b) ) 3
¢ 7 © 4
: @ 8 @ s
2. What is the remainder when 21000000 ;4 5. How many terms are there in the
divided by 7? following product?
(al +a2 +a3)(b1 +b2 +b3 +b4)
(@ 1 (cp +cg +cg +eg +c5)
(b) 2
(a) 15
() 4
(b) 30
(d 6
(c) 45
i 3. How many pairs of (x, y) can be chosen & 10
from the set {2 3 6 89} such that
x Y_
) e 6. What is the remainder when 2727 — 1527
is divided by 6?
(a) Zero (@ ©
(b) One @) 1
(c) Two (c 3
(d) Three d 4
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7. AR a+b+c=0R, @ F=faRea & ¥ =R 9. 6732 % fawar & 31§ w1 7F 1 87
e &7

1. a3 +b3+c® =3abe fa) 1

2. a?+b2?+c¢? =—2(ab+bc+ca)

(b) 3
3. a®+b3+c3 =-3aba+b)
A2 R T g = W@ W gd I ghu) (5T
(d 9
(@ Faa 1R 2
(b) Fa= 2 3R 3
() ¥a@ 1R 3 10. af
b+\/b2—2bx=
(@ 1,23R3 b-b2 —2bx
2, @ x T A = RY
8. If
(@ (ibb
p_3a+2+33-2 o
J3a+2-3g-2
?, @ p2 - 3pg+2 1 AA M _? (5) 2ab
(a+1])
(a O
c 2ab
L (@+1)>2
(c 2
2
(da 3 (a+ b)?
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7. Ifa+ b +c =0, then which of the following 9. What is the unit digit in the expansion
are correct? of 67327

1. a3 +b3+c® =3abc
2. a?+b?+c? =-2ab+bc+ca) ek 2

3. a®+b3%+c® =-3abla+h)

(b) 3
Select the correct answer using the code
given below. c) 7
(a) 1 and 2 only (d) 9

(b) 2 and 3 only
10. What is the value of x, if
¢/ 1 and 3 only

b+vb? —2bx AN
(d 1,2 and3 b-+b? - 2bx
8. If
ab
(@ (a + b)
7 J3g+2+,/3g-2
J3q+2 -3q-2
2ab
®) (a+1])
then what is the value of p2 ~-3pq+27?
{(ag O (c) 2ab2
(a+}
() 1
(c) 2
@2
d 3 (a+b)
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11, S % IWE Soh (TWETH) 13. IR £+%=a+b 3l iz+_biz=2 2, @
a a
(x3 - )(x2 - 9x + 14) X _ Y frgdwam
(x2+x+l)(x2—8x+7) a? b2
forah s @m?
(@ -2
(@ (x-1
() -1
) (x-2)
(¢ O
(0 (x-7
(d 1
d) (x+2)

14. IR x2 +ax+b 3N x2 +ex+d F Ho o
12. — L % @ e s =fee a@ife

" x-2)(x-4) (T Hlo Who) (x - k) &, M k 1 9H F1 §7
(x2 - 5x +6)(x—4)
d-b
(a)
1 c—a
“ (x2 - 7x+12)
1 m 2-b
a-c¢
(x2% +7x+12)
d+b
1 (c)
R s e
1
d d-b
(@ 2 +7x-12) (B
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11. The expression 13. If f+%=a+b and i+l=2, then

a a2 b2
(3 - )(x? -9x +14) Baps ;xz‘ & ;%‘ cqalutod
(x2 +x+1)(x2 -8x+7)
(a -2

simplifies to ;

(@ (x-1) i

(b) (x-2 (c) O
' © -7 By

(d (x+2)

14. If (x-k) is the HCF of x2 +ax+b and

x2 tex+ d, then what is the value of k?

1

12. What should be added to ———M
(x-2)(x~-4)

2x-5 g
to get 5L ? c—a
(x2 - 5x+6)(x—4)
P (x2—71x+12)
: i 2=
a =16
. (b) _1—
(x2% +7x+12)
(©) d+b
(c) 1 c+a
(x2-7x-12)
rEEE SN g 9=b
(x2 +7x-12) ( c+a
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15. frafaRan su= = fmr Sifv .

1. 3R x, z % APEAEA & Ry, 2 F
AP ®, AN (k2 -y?), 22 F
SHATIIN R |

2. AR x, z% Fopagarh @ 3 y, z F
RN 7, @ (), 2?2 ¥
ERATATI 8

3w FoET § ¥ PE-A1/A g R /E
(@ Faa 1

(b) = 2

(c) 1 3R 23

(d Fd13RTd2

16. x3 -19x+30 3 x2 -5x+6 H Ho Ho
(qao'd’lo‘l{q;o)w%?

(a (x+2)(x-3
(b} (x-2x+3
fc) (x+2)(x-1

(@ (x-3)x-2

17. 8x  4x +x+1_x—1 frrn TR
1-x* x%2+1 x-1 x+1
27
(@ O
(b) 1
() 2

(@ 4

XVWS-T-MTK/50A

18. x ¥ Trw s wm (Rww 9=y) & forg
12
e BT

(@) 4
(b) 3
(c 2

@d 1

19. IR x(x-Px-2(x-3)+1=k2 B, @
e & 4 FR-w1 @ o (TEEIEE)
k % fore gve R7

(@) x2 -3x+1
(b) x2-3x-1
(0 x2+3x-1

(d) x2-2x-1

1 1
bela-b)a-9  cab-d(b-a)
1
" ablc-a)ic-b)

20.

Tormras srreR R7
(@ a+b+c
(b) 3

(c) ab+bc+ca

(d o




1S. Consider the following statements : 18. For what integral value of x is

1. If x is directly proportional to z and 12 = x?
y is directly proportional to z, then 7_ 6 £
(x2 - y?) is directly proportional w__3
to z2. S-x
2. If x is inversely proportional to z
b 111 : (@ 4
and yis inversely proportional to z,
then (xy) is inversely proportional (b) 3
to z2.
(¢ 2
Which of the above statements is/are
correct? (d 1
(@) 1 only 19. If x(x - 1)(x —2)(x — 3) + 1 = k2, then which
(b) 2 only one of the following is a possible
(¢) Both 1 and 2 expression for k?
2
(d) Neither 1 nor 2 (@ x*-3x+1
16. What is the HCF of x3 -19x+30 and (b) x?-3x-1
x%-5x+6?

{c) x2 +3x-1
{a) (x+2)(x-3)

(b) (x-2)(x+3 (d x2%-2x-1
2 i

s Ly / 1) 20. What is

(d) (x-3)(x-2 1 : 1
k bela-b)la-¢ calb-gb-a

17. What is - 1
‘ 8x  4x +x+1_x—1 ab(c—-a}(c-b)
1-x% x2+41 x-1 x+1
equal to?

equal to?

@ 0 (a) a+b+c

() 1 ek,

(c) 2 (c) ab+bc+ca

(d 4 (d o

XVWS-T-MTK/S50A 9 [P.T.O.




21. k % frad w=fes wEl & fog 25. 4x3 +12x2 - x - 3 Frud faasw @7
6kx? + 12kx —24x+16 Y% Ifd x &

foe o of i &7 (@) o (2x+1)
(@ I3 (b)) FaA 2x-1)
L sl © @x+1)3REx-13F
(c) q
(d TAERx+)IMIA2x-1)
(d) =R
20, afR l=§%,?ﬁ 4——1—-1%6?!%33'{13(%? 26. U} Frafafaa o Pl % sm iR | 4 3
e e e S, @ e frm % 79§ =Eaw TREd
195 qm?
(@) —
16
2
e s
16
625 3
(@ o 4
(c) —5‘

23. R ThFO 4x2 —2kx+ 3k =0 F @ Th-

TaH €, @ k% 9 w41 &7 (@ _2_

(@ 4, 12

(b) 4,8

(c) 0,12 27. WA e w wan 3§ deH R weRRt s .

(d 0,8 e qhian & ww o=l w1 Nwa p ®) w0 A

dewnt 3R weRml w1 wgum 3:1 %) 3R

24. Ik adiwo px2—6x+q=0 ED IEﬁ 1 a@mmwﬁwﬂ)%ﬁlm

de iR EEES 3 D 6 %, A (p+q) T e SfEa 3% w1 27

AR @ (-1

S ®) (p-2

(b) 7

© 6 €@ (-3

(d S (d p
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21. For how many real values of k is 25. 4x3 +12x2 - x - 3 is divisible by
6kx2 +12kx —24x + 16 a perfect square

for every integer x? (@) (2x+1) only
(@ Zero (b) (2x-1) only
(b) One
(c) Both 2x+1) and 2x - 1)
{c) Two
(d Four {d) Neither 2x + 1) nor 2x-1)
22 If x+l = E, then what is x? __14. 26. Which one of the following fractions will
x 2 X have minimum change in its value if 3 is
equal to? added to both the numerator and the
(@ 195 denominator of all the fractions?
a =L
16
2
(a) =
(b) 255 3
16
3
625 () =
c ——
© o 8
(d 0 4
c —
(c) =

23. If the equation 4x2 —2kx+ 3k =0 has
equal roots, then what are the values

)
of k? (G
(@ 4, 12
(b) 4,8
27. Let the average score of a class of
(c) O, 12 boys and girls in an examination be p.
d o, 8 The ratio of boys and girls in the class

is 3: 1. If the average score of the boys is

24. If the sum as well as the product of the (pit 1, then widhity the apcingiefssorciol

: 2 the girls?

roots of the equation px“ -6x+qg=0
is 6, then what is (p + g) equal to? (@ (p-)

8
e ®) (-2
(b) 7
g € (-3
d 5 (d p
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28. A, B3N CH 9I¥ 7:9:12 % agua # R 31. T% ANA FHM: 20%, 10% 3AR 5% N

3R T =9 8:9:15 % AU | B AR A ATHEE G2 (TRRE feewEe) W ') e
# T9q ITH AT B WH-HUE 3, A A, B e Toraet Brft?
3R cH w=a w1 U™ w7 @ 30%
(a) 56:99:69 (b} 31:6%
(c) 32:8%
(b) 99:56: 69 B
{c) 69:56:99 .

32. T YAURT ) TR0 I 61 & Ui T |
(d) 99:69:56 5 auf ¥ R fdw R o™ IR R/ 5%
IR /| Faw fF I, @ @@ €500

] : F1ferek WTH € | R = a91?
29. 200 m Wl TH {WME, 100 m wo Th

weHE $ 10 V%S ¥ IR A B WG H (@ ¥2,000
o et &7 (b)) €1,800
(c 1,600
(aA) 40 m/s
d €1,200
(b) 30 m/s

33. TF SN W 12% A af A WA 2 98 &
() 25 m/s e wwefs = (arffes w0 | @a@ifm) ok
YR <A1 1 7R €72 B | q@ed F= 87

{d) 20 m/s
(@) €6,500
(b) ®6,000

30. 3R
(c) ®5,500
1 1 1 1 _ 99

1%2  2%x3 3x4  nmn+D 100 Sl

2, @ n 1 AA = R? 34. TF WWME 5 W ¥ 600 km H AT Hat @
3R 3T 900 km N AT 10 21 # et R

(@ 98 WS ) shraa wre = 7

(B) 99 (a) 80 km/hr
(b} 90 km/hr

(c) 100
(c) 100 km/hr

(d) 101 (d) 120 km/hr

XVWS-T-MTK/50A 12




28. The incomes of A, Band Care in the ratio 31. A trader gives successive discounts of

7:9:12 and their expenditures are in 20%, 10% and 5% respectively. What is
the ratio 8:9:15. If A’s saving is one- the overall discount?
fourth of his income, then the ratio of
savings of A, B and C is f, §ene
(b) 31-6%
{a) 56:99:69
(c) 32:8%
(b) 99:56: 69 (d) 35%
{c) 69:56:99

32. A sum of money was invested at simple
interest at a certain rate for 5 years.
Had it been invested at a 5% higher
rate, it would have fetched ¥ 500 more.
What was the principal amount?

, (d) 99:69:56

29. A train 200 m long passes a platform
100 m long in 10 seconds. What is the (@) ¥2,000
speed of the train?

(b) ¥1,800
(@) 40 m/s (c) ¥1,600
(b) 30 m/s (d) €1,200
(¢ 25 m/s 33. The difference between the compound
interest (compounded annually) and the
(d) 20 m/s simple interest on a certain sum of

money at 12% per annum for 2 years
is ©72. What is the principal amount?

e 5 (@ 6,500
£6,000

. Libdh Tl T (=il i 90 ®)
1x2 2x3 3x4 nn+1) 100 () ¥5,500
(d) €5,000

theh wiBlEthe RECurse Ry 34. A train travels 600 km in 5 hours and the

next 900 km in 10 hours. What is the

(a) 98 average speed of the train?
a) 80 km/hr
{b) 90 km/hr

(Flaeo () 100 km/hr

(d) 101 (d) 120 km/hr
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35.@&1&5&@@%%@%‘&%% 38. za iR grht ¥ 80 i faxw #, st 1 25%

el &, A 9 HEied 12 e 30 A ggsm za %1 3@ Mo # frem o iR femn s
%1 39 30 N W A ¥ W A=A e a1t T8 54, s 1 20% B we?
g T 27

(@) 15 AKX
(@) 48 fime

20 HiX

(b) 50 firme i
) 54 PR (c) 24 AKX
(@) 60 fre (d) 25 iR

36. 100 Wl 1 -, 80 I F fra-1ea 39. IRk 20 =k, 20 TR, 20 Rt § w6 W wHd

¥ U 3| ™ h wiwraar = R? £ @ 16 =afts, 16 TaR fre A & w6 =
HqH?
(@ 16%
(@ 25%=
(b) 20%
(b) 24fa
(c) 24%
(d) 25% (c) 20f=
(d) 16 =

37. X A9 WHE Y I go § 25% HEN 994 3
R z A gEN § 25% AEM Z H WA, Y

i gon & fran wfoera wea 87 40. WH TR (x — 1) sERFE TR (x + 1) = & Ren
T wE y ¥ WM ST (x +2) SEREE ST

(a)lg—o% x-1 B A fem oW oz ¥ AR
y:z=9:10%, @ x & °H F 87

(b) 40% (a) 8

(c) 50% g ok
{c) 10

200,
(@ K (d 12
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35. Walking at fslth of his usual speed, a man 38. In a mixture of 80 litres of a liquid and

is 12 minutes late for his office. What is water, 25% of the mixture is the liquid.
the usual time taken by him to cover How much water should be added to
that distance? the mixture so that the liquid becomes

20% of the mixture?

(a) 48 minutes

(a) 1S litres
(b) 50 minutes

(b) 20 litres
{c) 54 minutes

(c) 24 litres
(d) 60 minutes

(d) 25 litres

36. The cost price of 100 mangoes is equal to
the selling price of 80 mangoes. What is

39. If 20 persons can clean 20 floors in
the profit percentage?

20 days, then in how many days can
16 persons clean 16 floors?

a) 16%
(@)
(b) 20% (a) 25 days
(]
© 24% (b) 24 days
(d 25% (c) 20 days
(d) 16 days
37. X sells his goods 25% cheaper than Y d
and 25% dearer than Z. How much
, percentage is Z’s goods cheaper than Y? 40. Let the work done by (x-1) men in
(x+1) days be y Let the work done
(@ 100% by (x+2) men in (x-1 days be =z
3 If y:z=9:10, then what is the value
of x?
(b) 40% (@ 8
9
{c) 50% (®)
{c) 10
200
d %
(e (@ 12

XVWS-T-MTK/S0A 15 {P.T.O.




41. log,, 31-25 fa® TR 37 45. 3fe 5%-3 = 8 &, At x forwas svam 7

{a) 3-15log;2 3
(@) v
1-log;p 2

(c) 5-5logyp2 3
o ) ———
1+log;q 2

2
42. 15- 417 % g w0 37 @ 1oiogo2

(@ 2v2 -7

(b) 3V2-2J7 1-log;o 2

(c) V15-J7

@) V5-3 46. 3sin? 0 +4cos? 6 1 =[JH TH F1 87
43. A T W P F e (Retea) Coly

8 ?

R R AN U R L] ®) 4

(@ 12 ‘ (c) 3

(b) 13 d 2

© 14

R 47. IR sinBcosd =k #, &l Osesg A, @D
44. R n FS W hF 2, A 520 - 1 WM B Trafafan & @ =F-w v &7

ot & finmew 37
ks i ) (@ 0<k<1
(a) =&
() FAA0<Kk<0-5

(b) =W

(c) () ¥&A0.55k<1

(d) sTie (d O0<k<1
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41. What is log;y 31-25 equal to?

(@ 3-5log;y2
(b) 3-2log;p2
(C) S-— Sloglo 2

(d) 5-3log;q2

42. What is the square root of 15-414?
3 (@ 2v2-J7

() 32 -2J7
() J15-4J7
(d) J5-43

43. The sum of the reciprocals of two

alternate natural numbers is 214 What
is the sum of the numbers?
(@) 12
(b) 13
(c) 14
(d) 16
44. If n is any natural number, then 52" — 1

is always divisible by how many natural
numbers?

(a) One
(b) Four
{c) Six

(d) Eight

XVWS-T-MTK/50A 17

45. If 53 = 8, then what is x equal to?

3
a ——
Wt S
1+logyg 2
2
C —
{ } 1—10g102
S
) asdnine = 1

46. What is the least value
3sin? 0 +4cos?6?

(a) 5
(b) 4
(¢ 3

d 2

47. If sinOcosb =k, where 0<0< g

of

then

which one of the following is correct?

(@@ 0<k<1
() 0<k<0-5only
(c) 0-5<k<1only

(d O0<k<l1

[ P.T.O.




48. Ife Osesg%ﬁﬂp=sin29+cos46 T, 51. sraftsi (m) W o

Hif .
a1 frafeifaa wuEl ® femm Hifs :
4 . R 1. sinlP<cos57°
1. p, ; AT §dl el 2. cosb60°>sin57°
2. p, 19 Iftes @ g% R

I & ¥ BA-A1/8 T /87
I FUEl W BE-A1/D T /77 e
(@) Fad 1 o
(b) Fad 2 (c) 1 3R 23
(¢ 1 3R 2aEt (d @ 1AIA 2

(d ad@13RA#2

52. a4k p =secd-tan® 3R g =cosech +cotd
®, @ p+qg(p - 1) Freeh = 27
49. 2 -2sinx —sin? x, Ostg, ¥ WEwH WM

(@ -1
| ?
1 9% YN T D @ T 8 o
(a) -3 (c 1
(b) -1 (@ 2
{c 1
53. AR cosech-cot®=m %, W cosecod Tk
(d) 3 TR 77
(a) m+i
50. I @iFw x2 + y? -2xysin?0=0 H «x B
3R y % e arafes & §, A
(b) m—l
(@ x=y o
(b) xX=-y {c} E+_2_
2 m
(c) x=2y
m 1
(@ 2x=y @ Ztom

XVWS-T-MTK/50A 18




48. If p=sin28+cos*H for 0<0 < g then
consider the following statements :

1. p can be less than %.

2. p can be more than 1.

Which of the above statements is/are
correct?

(a) 1 only

(b) 2 only

{c) Both 1 and 2
(d) Neither 1 nor 2

49. What is the ratio of the greatest to
the smallest value of 2 —2sin x - sin? X5

0<x<Z?
2
(@ -3 .
() -1
(c 1
(d) 3
50. If the equation x2 +y? -2xysin?6=0
contains real solution for x and y, then
(@ x=y
(b) x=-y
c) x=2y

(d 2x=y

XVWS-T-MTK/S50A 19

51. Consider the following inequalities :
1. sinl°<cosS57°

2. cos60°>sin57°

Which of the above is/are correct?

(a) 1 only
(b) 2 only
{c) Both 1 and 2
(d) Neither 1 nor 2
52. If p=secb-tan® and g =cosech +cot8,
then what is p+g{p — 1) equal to?
(@ -1
(b) O
c 1
d 2

53. If cosecB® —cotb =m, then what is cosec®
equal to?

(a) m+—1
m

[ P.T.O.




55. HA

54. WA HivT ABC & B @ fee ¢ w awehr

2, @ tan A + tan B fFa® SRR 27
a
(a) b_c

a?

‘be
b2
‘ca

(b)
(c)

Y ==
I =

s cosa +cosP =2 R
sina +sinf=0 ®, & O0<a <90,
0 <P < 90° Bl cos20 — cos2B Tl A HT &7

58. df
6 + 8tand = sech 3R 8- 6tan® = ksecO

2, @ k2 & uE Y
() 11
(b) 22
€ 77
(@ 99

59. i W TH W FEW W@ F Y 60° &

S0 W FH N ¥ A W @ F UR |
xR B g @ g wan &
R wHE w9 ofaRa (F998) w1 9R

() O @ R fag 91w @ Sl wweaw ¥ g,
(b) 1 @Y H |« T RY
(c) 2
@ s st % wwo Pt T R R
T wE (b) 3 x WA
2 (¢ 2x ™R
56. 13 sec9+cose=§, s’ 0<6<90° %, a (@ 203x
sin2 6 %1 A R 87
(a)Zl 60. TF JEAHR Td & I W TH HEI TR
) Ta% Fiwea A = | 60° R 45° F HIf
(b) 5 Jafa (Feds) Fal ) AR TR v ¥ 9
2 FN W O H B JaRkd wal 8, @ cotd
(€ 7 fopeeh TR Q7
@ri @ 5
57. (1+cot® —cosech)(l+tan6 +sec)  Foras
(b) 2
TR B7
(@ 4 (o) N
b) 3 43
() 2 4
d 1 @ 5
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54. Let ABC be a triangle right angled at C,
then what is tan A + tan B equal to?

(a)

<
bc

a?
bc

b2

(b)
()
(@ —

55. Let cosa +cosf=2 and sina +sinf =0,
where 0<a £90°, 0<B <90°. What is
= the value of cos2a — cos2f?

(a O
() 1
(0 2

(d) Cannot be determined due to
insufficient data

56. If sec +cosf = -g—, where 0 < 6 < 90°, then

what is the value of sin2 6?

(@)
y (b)

(c)

= DWW Nim= pH|=

(@

57. What is (1+cot0 —cosecO)(1+ tan6 + sec8)
equal to?

(a)
(b)
(c)
(d

- N W b

XVWS-T-MTK/50A 21

58. If 6+ 8tand = secO and 8 —- 6tan® = ksecH,
then what is the value of k2?

(@ 11
(b) 22
¢ 77
(d) 99

59. A pole on the ground leans at 60° with
the vertical. At a point x metre away
from the base of the pole on the ground,
two halves of the pole subtend the same
angle. If the pole and the point are in

the same vertical plane, then what is
the length of the pole?

(@) 2 x metre
(b) 3 x metre
(c) 2x metre
(d) 2v2 x metre

60. A vertical tower standing at the corner of
a rectangular field subtends angles of
60° and 45° at the two nearer corners.
If 8 is the angle that the tower subtends

at the farthest corner, then what is
cot® equal to?

(@)

N =

(b) 2

(c)

al»

(d)

al»

[P.T.O.




61. TF TP AN TH e THEWH YR AR 65. 24 cm TFR (T9) 9N T °ig § & §IA

THAAH A F §| T A FIR w1, Ad 3 v foemn s @ 3l ER dR e W=
H e | sgua =87 T 0 &1 9R A BR v\ F FHR 12 om
(a 1:1 3R 16 cm &, A TR SR = F IER AFFA
B 2:1 w1 }7

fc) 3:2

(@) 1200 cm?
(d 4:3

(b)) 1800 cm?
62. 60 mm =M I TH 39 Ma B TaemR

144 cm <= N TH IR A A R AR H (c) 2400 cm?

TR (d) 3600 cm?

(@) 05 cm

b

o 1;m 66. Th THHR U (Fifwra Juw), Feh sais

e B 5 cm R S 24 cm %, T A

i WO B R T R IR W 10 cm AERE
63. T o (Rifeie) & smum 6 fB=n =, ?ﬁ;‘im%ﬁﬁmﬁmmm

fife f 91 F 9y gu@ 2: 3 1 AR o=

Taferet #1 e 1617 cm? &, @ fifa=

vy (ag 1 cm
351335- ERlf ? = e—
i &A%he 1 7 (n = whfsm) s
(@ 242 cm? (e 3.
(b) 385 cm?
(©) 462 cm? e i
(d) 770 cm?

67. 22 cm Y 94 Ul % T W T H

64. 14 cm I TH ACEHR TET F W@ K o, 21 cm € 1 Th WH SR

AR THig &% F JR 44 cm? | 959 S R W % emur i B wm @7
99 cm?3 H uig A =0 ¥ IR WY H @ (n = 22 <iftm) |
fism R o iaks B -}, @ (R+7) 7

frad w7 (n=2_72eﬁﬁnz)

(@ 11 cm
() 9 cm (b) 16:5 cm
P 18
(d 45 cm (d) 275 cm
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61. A cone and a hemisphere have equal
bases and equal volumes. What is the
ratio of the height of the cone to the
radius of the hemisphere?

(@ 1:1
(b) 2:1
{(c) 3:2
(d 4:3

62. A solid sphere of diameter 60 mm is
melted to stretch into a wire of length
144 cm. What is the diameter of the
wire?
(@@ 05 cm
(b) 1 cm
(c) 15 cm
(d 2 cm

63. The ratio of the radius of base to the
height of a cylinder is 2: 3. If the volume

of the cylinder is 1617 cm?3, then what
is the curved surface area of the

cylinder? (Take & = 2)
7

(a)
(b)
(c) 462 cm
(d

64. The difference between the outside and
the inside surface area of a cylindrical
pipe 14 cm long is 44 cm?. The pipe is
made of 99 cm?3 of metal. If R is the
outer radius and r is the inner radius of
the pipe, then what is (R+r) equal to?

(Take m = 2—2)
7

(a) 9 cm
(b) 7-5 cm
{c) 6 cm
{d) 45 cm

XVWS-T-MTK/S0A
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65. A metal solid cube of edge 24 cm is
melted and made into three small
cubes. If the edges of two small cubes
are 12 cm and 16 cm, then what is the
surface area of the third small cube?

(@) 1200 cm?
(b) 1800 cm?
() 2400 cm?
(d) 3600 cm?

66. A conical vessel whose internal radius is
5 cm and height 24 cm is full of water.
The water is emptied into a cylindrical
vessel with internal radius 10 cm. What
is the height to which the water rises?
(a 1 cm
(b} 2 cm
(cc 3 cm
(d) 4 cm

67. A metal solid cube of side 22 cm is

melted to make a cone of height 21 cm.
What is the radius of the base of the

cone? (Take n = %}

11 cm

(@)
(b) 165 cm
(c) 22 cm

(d) 275 cm

[ P.T.O.




68. 24 cm I I TH W H TH-YHY S 7. 3 mIR TEH TRV 12 m AW MR 7 m

550 cm? ¥ v H B w1 wh R e 3= a9 WP F R T 79 (%)
$o & s 7R (n = 22 ifm) T ST R H9S o ofed Reaht 7
v 22
(n=7m)
@ =
(@ 21 m
(b) = (b) 28 m
13 {c) 44 m
© — (d) 66 m
25
7 72. 6 cm T % TH el i ARG & A 70 ¥
@ 37 W T ATIHR I § ST el B1 59 9 R
P 6 cm R) ARk Ten qft we wrht § g=
69. 44 cm Wl 3R 22 cm T TH AFAHER S &, @ 9 1 wR B g smem?
FIS | 39 FIE H) 99 THH a8 3§ YR (@ 05 cm
& 9gq aoq (Rafer=r) s@mn sman @, @ 9W (b)) 1 cm
i T e ot x @ ofn o 30w (ehid i Egam

H T AT A TYHR TH gaq, Riferet s

d) 2

STl 8, @ IR AT y ¥ x By W IPIE e

w%?(n=%mﬁn> 73. 21 cm BoW TR © 39 § A & Brews
(AFR) H1 e B AR Akt F A A g

(@ 1:1 55 cm ®, @ Y9 1 A% = }7

() 2:1 (@) 5775 cm?

(c) 1:2 (b) 612:5 cm?

(d 3:2

(c) 7055 cm?

d ; 2
70. 3 g/em® WWE HI Th Uy ¥ Tk @@ (d) 7255 cm
PR A SR a1 81 AR /R 3l

. E] * L
3R = fr=ad 79: 5 cm W6 cm #, @ g e TN Bl el

R IR W = aEge F AR § Hig 9w g,
I N FHHAA F1RY (n=7?ﬁﬁm) & g s i s w7 (n=2_3m)
(a) 1144 g @) 55 am
(b) 1024 g (b) 75 cm
(c) 840 g (c) 95 cm
(d) 570 g (d 110 cm
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68. A cone of height 24 c¢cm has a curved
surface area 550 cm?. What is the
ratio of its radius to slant height?

(Take 7 = ?73)
@ =
®
©
@ =

69. A rectangular paper is 44 cm long and
22 cm wide. Let x be the volume of the
largest cylinder formed by rolling the
paper along its length and y be the
volume of the largest cylinder formed by
rolling the paper along its width. What

is the ratio of x to y? (Take = -2-,72-)

(@ 1:1
(b) 2:1
(c)
(d 3:2
70. A hollow spherical shell is made up of
a metal of density 3 g/cms. If the

internal and external radii are 5 cm and
6 cm respectively, then what is the mass

of the shell? (Take 7 = 2_72)

(a) 1144 g
(b) 1024 g
{c) 840 g
({d) S70 g
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71. A cloth of 3 m width is used to make
a conical tent 12 m in diameter with
a slant height of 7 m. What is the length

of the cloth? (Take ©t = %)

{a) 21 m
() 28 m
(c) 44 m
(d) 66 m

72. A sphere of diameter 6 cm is dropped
into a cylindrical vessel partly filled with
water. The radius of the vessel is 6 cm.
If the sphere is completely submerged

in water, then by how much will the
surface level of water be raised?

(a) 05 cm
(b) 1 cm
{c) 15 cm
(d) 2 cm
73. A sector is cut from a circle of radius
21 cm. H the length of the arc of the

sector is 55 cm, then what is the area
of the sector?

{a) 5775 cm?2
(b) 6125 cm?
(c) 7055 cm?
(d) 7255 cm?
74. A wire is in the form of a circle of radius

70 cm. If it is bent in the form of
a rhombus, then what is its side length?

(Take © = 2)
7

(a) 55 cm
(b) 75 cm
{c) 95 cm
(d} 110 cm

[ P.T.O.




75. IR T dguTHR IAW F 9fEE 360 m T, 78. 9 wafiag sl % W Fo (alFa Tw)

A To Gea w0 27 (n = 22 ohfvm) TR & AR T el F PN

[ 4.84:5.29 | ST T Al w1 AP
" I

(a) 3850 m? w1

(b) 7700 m? (@) 11:23

(c) 11550 m? (b) 23:25

(d) 15400 m? () 22:23

76. T anes (YRREm) ABCD#, AB, DC% WHi® (d) 484:529

2 fasel AC 3R BD, P W GH-g@ F FEd

(@R F) & IR AP: PC=4:(4x-4) !

dRBP: PD=(2x-1): @x +4) &, A x W AR 79. ABC T Py ? R #m1 A amm § afv

w0 &7 AD, BC % w=aq ¢l 3t BD =8 cm 3R
DC=12.5 cm ¥, @1 AD foras R 37

(@ 4
(a) 7S cm

(b) 3
(b) 85 cm

3
©@ 3 ¢} 9cm
@ 2 (d) 10 cm

77. AABC, ADEF % ¥&4 §1 AABC 3R ADEF 80. T T %I ¥ %A, TF A F T A

¥ qfmmN AW 40 cm 3R 30 cm ¥ %Wi'?q:.ﬁfﬂmx%agﬁém ‘
(BC+ CA) %1 (EF + FD) ¥ 31Ut fres st A y §, W x?: y? forweh e &1
2

(a ©n:6
(@ 5:4

6:

() 4:3 (b) 6:m
(c 3:2 (c) =:3
(@ 2:1 (d 3:m
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75. If the perimeter of a semicircular park
is 360 m, then what is its area?

(Take = 2}
7
(@) 3850 m?
(b) 7700 m?
c) 11550 m?

(d) 15400 m?

76. In a trapezium ABCD, AB is parallel
to DC. The diagonals AC and BD
intersect at P. If AP: PC=4: (4x —4)and
BP: PD=(2x-1):(2x+4), then what is
the value of x?

(@) 4

(b) 3

(c)

N|W

d 2

77. AABC is similar to ADEF. The perimeters
of AABC and ADEF are 40 cm and
30 cm respectively. What is the ratio of
(BC+ CA) to (EF + FD) equal to?

() 5:4
(b) 4:3
(c) 3:2

(d)y 2:1

XVWS-T-MTK/S0A
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78.

Two isosceles triangles have equal
vertical angles and their areas are in the
ratio 4-84:5-29. What is the ratio of
their corresponding heights?

(@ 11:23
(b) 23:25
c) 22:23

(d) 484:529

79. ABCis a triangle right angled at Aand AD

is perpendicular to BC. If BD = 8 cm
and DC=12.5 cm, then what is AD
equal to?

{(a) 75 cm

(b) 85 cm

(c) 9 cm

(d) 10 cm

80. The surface area of a cube is equal to

that of a sphere. If x is the volume of the
cube and y is the volume of the sphere,
then what is x2:y2 equal to?

() m:6
(b) 6:7
fc) n:3

(d 3:m

[ P.T.O.




81. F wHY fiyst A ot x: (- 1): (x - 18)

% 1gara & #1 Pt % oo = ¥
(a) 28 T
(b) 42 T
() 56 TH
(d) 84 T

82. ABC @& fiys R, fram w1 B wwshior 3) oW

R M 3R N, AB R @ wER F A fag §
& AM = MN = NB ¥\ TH ¥ P 3w o,
ACRE YR & A fag & 75 PM, ON &
T ? R ON, cB ¥ wwiw ¥ R
BC=12 cm %, @ (PM + QN) Rrad =R
27

(a) 10 cm
() 11 cm
(¢ 12 cm

{d 13 cm

83. AB 3R CD @& 30 % = & St wH-g@ # P

R ¥ ¥ AC, CB, BD 3R DA % fi=m

dfe) IR £PAD = 60° ®, W ~BPD fHa%
TR 87

(@ 30°
(b) 60°
(c) 90°

d) 120°

84. TF W Pyw ABC 3R w fvmeg e

DBC T% 91 & 9N % Th € &% 3if%ad fhu
Sd &1 £BDC 5% R 27

(@) 30°
(b) 45°
c) 60°

(d) 90°

85. T @ ABC it ot 4 cm, 6 cm @ik

8 cm ¥ Fw & W fargelt A = wAaw,
9 g 7 ] § Rl ¥ s @ e R
T W AR ¥ W war ¥ A e
Premait # ded w0 27

(@) 6 cm
(b) 7 cm
{c) 9 cm

(d) 10 cm

86. WH W PAB T% 91 #! % oe% a1 ¥ S

9 F A R B W #redt R) 5w it pr
Wyl YT (N2 Am=) ®1 IR PA=9 em
3R PT =12 cm R, @ AB fa¥ ster 27

{aA) 5 cm
(b) 6 cm
{c) 7 cm

(d 9 cm
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81. The sides of a right-angled triangle are in

the ratio x:(x—-1):(x—18). What is the
perimeter of the triangle?

(@) 28 units
(b) 42 units
(c) 56 units

(d) 84 units

82. ABC is a triangle right angled at B. Let

M and N be two points on AB such that
AM = MN= NB. Let P and Q be two
points on AC such that PM is parallel
to ON and QN is parallel to CB If
BC=12 cm, then what is (PM + QN)
equal to?

(aj 10 cm
(b) 11 cm
{c) 12 cm

(d) 13 cm

83. AB and CD are the diameters of a circle

which intersect at P. Join AC, CB, BD
and DA. If ZPAD =60°, then what is
4£BPD equal to?

(@ 30°
(b) 60°
(c) 90°

d 120°
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84. An equilateral triangle ABC and a scalene

triangle DBC are inscribed in a circle on
same side of the arc. What is £BDC
equal to?

(a) 30°
(b) 45°
c) 60°

(d) 90°

85. The sides of a triangle ABC are 4 cm,

6 cm and 8 cm. With the vertices of
the triangle as centres, three circles
are drawn each touching the other two
externally. What is the sum of the radii
of the three circles?

(a@ 6 cm

(b) 7 cm

(c) 9 cm

(d 10 cm

Let PAB be a secant to a circle
intersecting the circle at A and B. Let PT
be the tangent segment. If PA=9 cm
and PT'=12 cm, then what is AB
equal to?

(aA) 5 cm

(b} 6 cm

{c) 7 cm

(d 9 cm

[ P.T.O.




87. 4Rt TF wwHv Py o1 9fE™ 30 cm # 3R 89. ABCD W& wHad (dfifsam) ® fwdt AB, DC

EH F0 13 cm R, A By = daee w0 % | ] 3R 2AB = 3DC ®| i AC 3iR
27 BD, O W Y& %Ed &1 AAOB % &9%d &l
ADOC ¥ 8%l § SIIUTd 41 R7
(a) 24 cm?
(@ 2:1
(b) 27 cm?
(b) 3:2
{c) 30 cm?
(c) 4:1
(d 36 cm?
(d 9:4

88. ABC W& fiyS &, e i1 ¢ wwehw 3| oW
T AB®R ¢ ¥ sif¥a fre o e & o= s 90. T& J9 fordl gis ABCD i =R ywnsit B

pRNIABC=6 cm IR CA=8cm §, @ Y a1 81 AR AB=9 cm, BC=8 cm

p 1 WE =17 3R CD = 12 cm %, & DA fora® ster 7

(@) 54 cm (@ 14 cm :
(b) 5 cm (b) 13 cm :
c) 48 cm () 12 cm

(d) 42 cm (d 11 cm
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87. If the perimeter of a right-angled triangle
is 30 cm and the hypotenuse is 13 cm,
then what is the area of the triangle?

89. ABCD is a trapezium in which AB is

parallel to DC and 2AB=3DC. The
diagonals AC and BD intersect at O.

What is the ratio of the area of AAOB
to that of ADOC?

(@) 24 cm?
(@ 2:1
(b) 27 cm?
(b) 3:2
(c) 30 cm?
» {c) 4:1
(d) 36 cm?
(d 9:4

88. ABC is a triangle right angled at C. Let
p be the length of the perpendicular
drawn from C on AB. If BC=6 cm and
CA = 8 cm, then what is the value of p?

90. A circle touches all the four sides of
a quadrilateral ABCD. If AB=9 cm,
BC=8 cm and CD =12 cm, then what
is DA equal to?

| @)z 5 fwem (@ 14 cm
: (b) S cm (b)) 13 cm
(c) 48 cm (c) 12 cm
(d) 42 cm (d 11 cm
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91, HRi % IUEA (F@ ¥) ¥ vl # FAfafaa 93. Ffafga stwst H wiftem (hifdaw) = 87
g g : 2 3 -1,2,6, 8,9

af 2015 | af 2016
A 35 38 o 5
W B 45 47
/W C 88 93 Gl
W D 75 79
WE 58 60-9 e
fm It & wRI W Ieea 2015 R geE A [d 5
2016 ¥ 5% AYa1 TEA 31ftr g1 *7
(A B3R E
(b)) FaA A, C3R D 94, WYA TH WY HEYIRl %l GHiR Wed (TRemies -
(c) A C DIRE o) = 87
(d) ¥aA A, DIRE
(a) 85
92. F=fafea aroft 80 3=t H w whar #
90 BTl % it * Twld § : (b) 95
F oTEl # weTr (c) 102
e z d 112
11-20 8
21-30 10
S1-40 13 95. 5 BT g YW feT @ % 21, 27, 19, 26,
41-90 18 32 %1 9% & Yo% °E F IF A 5 A fF
51-60 17 (G weE) iR Sig g wm ¥ wEl %
61-70 12 it it %1 hwa of w= R7 ‘ .
71-80 7
foram wfaea BT 3 50% A1 THR 9 IF TH R
o &7 () 30
(@ 30%
(b) 40% (c) 31
(c) 45%
(d) 60% (d) 32
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91. Consider the following data with regard 93. What is the median of the following data?
to production of cars (in lakhs) :

Year 2015 | Year 2016 L daiR A T
Country A 35 38
Country B 45 47
ountry @ 2
Country C 88 93
Country D 75 79
(b) 3
Country E S8 609
In which of the countries, the (c) 4

production of cars has increased by
more than or equal to 5% in 2016

i over 20157 @ 5
(a() Band E
A (b) A C and D only 94. What is the arithmetic mean of the first

ten composite numbers?
(c) A C Dand E

(d) A, D and E only {(a) 8-S
92. The following table shows the marks of (b) 95
90 students in a test of 80 marks :
Marks Number of students (c)> 10-2
1-10 5
11-20 8 d 112
21-30 10
31-40 13 .
41-50 18 95. The marks obtained by 5 students are
? 51-60 17 21, 27, 19, 26, 32. Later on S5 grace
61-70 12 marks are added to each student. What
71-80 7 are the average marks of the revised
s marks of the students?
The percentage of students who have
obtained less than or equal to 50% (@) 26
marks is
(@) 30% (b) 30
b) 40%
®) y (c) 31
(c) 45%
(d) 60% (d) 32
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96. WA TN m el 1 7T p & AN n Jewn

Ew .

W A g &, &l p <q B AR (m + n) AeO
F GIH WA ¢ 7, A Frafafaa 7 | S9-A
w77

(@ c<p
(b) cz2q
(c) psc=<gq

(d gq<c<p

I AR (4) TH & fou el Swh § Iafia
Ted)-feefim mieEt & ot 2’ (1, 11, 1, 1v, V)
¥ gay # =i sifwst (amEh #) w fmm fif :

af I 11 111 v \Y4
2000 | 160 80 70 90 75
2001 | 200 | 150 85 160 | 100
2002 | 135 35 44 95 85
2003 | 240 95 120 80 120
2004 | 180 | 110 85 95 115
2005 | 210 | 150 | 100 92 110

97. 9§ 2000-2005 F aft 7 fra IR =1 =@

FH I T B7
(@ <A1
(b) T I
(c) IV

(d) TV

XVWS-T-MTK/50A

98. F=fafaa anf & gm % ¥ e $a A
el (2e92) 6t JEa #H SR =[Faw 27

(a) (2003, 2005)
(b) (2001, 2005)
(c) (2003, 2004)

(d) (2000, 2002)

99. 2001 I goHl # 2004 & Fel IARA | FHl
yfowraar s 2001 A g # 2000 F Fa
Ieqre o ) Y gireraar ¥ STgaE ?

1
(@) 3

(b)

(c)

N | =

(d)

|-

100. 58 o 2159 1 1 3I9TEA, 2|9 I SR 2159 IV P
F Fol I A Al 7

(@) 2001
(b) 2002
(c) 2003

(d) 2004
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96. Let p be the mean of m observations and 98. In which one of the following pairs of

q be the mean of n observations, where years, the difference in total number
p<gq. If the combined mean of (m+n) of tablets produced between them is
observations is ¢, then which one of the minimum?

following is correct?
(a) (2003, 2005)

a) c<
(@) 1 (b) (2001, 2005)
(b) czq (c) (2003, 2004)
() pscs<q (d) (2000, 2002)
(d gsc<p 99. The ratio of percentage drop in total
production in 2004 compared to 2001
. to that in 2000 compared to 2001, is
Directions :
For the next four (4) items, consider (a) e
the following data with regard to different types -
(L, 11, 111, IV, V) of multivitamin tablets produced
in a company (in lakhs) : (5) 1
Year | 1 I m | v | v Y
2000 | 160 80 70 90 75
2001 | 200 150 85 160 100 (c) 1
2002 | 135 | 35 44 95 85 2
2003 | 240 95 120 80 120
2004 | 180 110 85 95 115 o 1
2005 | 210 150 100 92 110 (@) 5

4 97. Which product is produced least over the 100. In which year, the production of Type I is

years 2000-2005? more than the sum of the production of
: Type III and Type IV?

(@) Type II

(@) 2001
o et (b) 2002
() Type IV () 2003
(d) Type V (d) 2004
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the Answer Sheet liable for rejection. ’

the Box provided alongside. DO NOT write anything else on
the Test Booklet.

. This Test Booklet contains 100 items (questions). Each item is printed both in Hindi and

English. Each item comprises four responses (answers). You will select the response which you
want to mark on the Answer Sheet. In case you feel that there is more than one correct response,
mark the response which you consider the best. In any case, choose ONLY ONE response for each
item.

. You have to mark all your responses ONLY on the separate Answer Sheet provided.

See directions in the Answer Sheet.

. Al items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test
Booklet, you have to fill in some particulars in the Answer Sheet as per instructions sent to you
with your Admission Certificate.

. After you have completed filling in all your responses on the Answer Sheet and the examination

has concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted
to take away with you the Test Booklet.

. Sheets for rough work are appended in the Test Booklet at the end.
. Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which a
wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(i) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of
the given answers happens to be correct and there will be same penalty as above to that
question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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